T £ T
FA AR LLIAT 707 779 885| 1,664
AL BB LLIET 1,049| 1,221 1,318] 2539
JLEEHT 2,309] 2,736] 3,009 5,745
HEBCHT 40 39 55 94
A& B O HT 20 27 37 64
& <FHT 33 45 42 87
PE &0 5 <F T 36 45 42 87
FiENHT 551 615 670 1,285
75 7 18 A BT 118 104 110 214
b8 A BT 21 30 36 66
ako0=1: 28 35 40 75
B aET 30 42 32 74
1 HT 46 61 75 136
A HT 61 78 76 154
ZHT 49 47 60 107
HMEFRET 43 45 43 88
F T 48 71 78 149
= RHT 45 43 51 94
R ET 32 42 46 88
Eoikanlidl 35 33 46 79
SR T 67 71 93 164
HaET 41 51 59 110
S FHHET 50 48 63 111
N 189 223 251 474
= R BT 1,079] 1,192 1352| 2,544
= H O 85 81 104 185
Fift = HT 12 11 12 23
it EHT 92 97 108 205
EHT 18 19 22 41
= EHT 47 56 58 114
H—TH 25 19 18 37
HWM=TH 27 36 34 70
HM=TH 89 99 113 212
HMmTH 34 38 42 80
HMATH 68 71 77 148




T £ HEY (B T

HI<TH 75 74 86 160
A=HT 31 28 33 61
iF SR = BT 48 62 64 126
L XITHT 47 46 47 93
BRI HT 117 86 103 189
HNET 841 1,098] 1,179] 2277
B [E T 107 123 114 237
75 it BT 222 252 264 516
FAHT 235 330 349 679
K HETE 39 50 59 109
W & BT 120 150 163 313
NEFErHT 237 231 260 491
KEHET 111 109 141 250
39 AL BT 230 262 299 561
HiE H5 T 70 77 104 181
KIEET 19 22 23 45
% R T 9 10 13 23
e LLI BT 278 299 299 598
b, B T 64 65 74 139
7k B2 SFHT 148 173 196 369
i [ T 91 111 125 236
& H By 469 459 550| 1,009
Y, e T 226 221 257 478
LT 430 485 524] 1,009
[/ Et) 11,488| 13,073 14,483| 27,556
21 - ET 1,937| 2,291 2479| 4,770
7% T 83 105 106 211
FZHT 128 174 165 339
AR EHT 191 215 235 450
X 3BT 155 171 210 381
[/ &) 2,494| 2956| 3,195| 6,151
% EHHET 1,029 1,255 1,257[ 2512
Yk T 788| 1,001| 1,066] 2067
541 BT 103 140 160 300
FHT 1,223| 1,542| 1,669 3211




T £ T

LI FH BT 230 282 284 566
% H 1L BT 1,209| 1429 1574| 3,003
FHHET 618 717 772| 1,489
SR Ji7 ET 862] 1,098 1,153 2,251
[/ Et) 6,062| 7.464| 7,935 15,399
+ =156 61 94 99 193
T =488 973| 1,124| 1.284| 2,408
gl 1,051| 1,234| 1426| 2,660
= HRET 265 362 383 745
KiTHET 34 57 62 119
= B Ey 21 25 22 47
F F EPHT 116 180 204 384
XiRERT 438 480 429 909
[/ &) 2,959 3556] 3,909 7465
1 FH T 193 264 276 540
A BT 46 68 81 149
=Paal:ij} 367 372 455 827
F ST 70 107 122 229
A 3k T 37 61 59 120
5L HT 218 311 322 633
Y A% T 36 57 71 128
FE L KHT 59 95 88 183
# AT 67 104 110 214
[/ Et) 1,093| 1439 1584 3,023
K& <FHT 107 120 146 266
J\SEHT 138 209 234 443
Gi: 2N 125 152 175 327
5 ElFFET 753 856 841| 1,697
=T 185 211 266 477
iz 51 69 74 143
75 BT 113 150 149 299
R BT 370 463 451 914
55 F] T 407 480 492 972
X8 FH &R <F AT 23 27 40 67
8 H &R F AT 46 50 72 122




HT & HEY (B z

kA M ERL AT 1,048] 1,331 1423| 2,754
BR F0HT 66 78 91 169
[/ Et) 3,432| 4,196] 4454] 8,650
/N SRHET 4569] 5299| 5788 11,087
INFRET 1,041| 1,288 1332| 2,620
B i 557 700 728 1,428
AT 335 379 399 778
=2 T 54 79 76 155
/NER T 352 480 488 968
ith 2z PN ET 146 181 177 358
A Fh T 208 309 306 615
Jiti [58 =F HT 323 405 428 833
75 FH A BT 468 510 530| 1,040
INRETER—TH 124 127 154 281
INRETER_TH 143 136 143 279
INRETER=TH 215 284 309 593
INKETEE—T B 24 26 26 52
INKBTFEZT B 50 65 67 132
INKBTEE=T B 77 87 81 168
[/ Et) 8,686 10,355/ 11,032 21,387
[ 5t ] 36,214| 43,039| 46,592 89,631
AN P 3 476 429 431 860
(& Ef) 36,690| 43,468 47,023 90,491




